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B | KA & 35| 39| 74| 2.4] 71.6 98I |AEm &= 42 45 87| 14.4] 12.6 15802 |BEA Bk 43| 46| 89| 15.6] 73.4
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871 [EAA % 447 37| 81| 1.2] 73.8 IS 491 46| 95| 20.4] 74.6 Y ESS 48] 56| 104] 28.8] 75.2
188 /KO K 48] 51| 99| 25.2] 73.8 248 | A#8 AE 441 45| 89| 14.4] 74.6 308 xR =7 50| 48] 98] 22.8] 75.2
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ERFEEEETT 40 47| 87| 13.2] 73.8 2516 |EH &0 49] 52| 101| 26.4] 74.6 A | KRB BE 451 41| 86| 10.8] 75.2
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2060 AR IR 471 45 92| 18.0] 74.0 2660 | =fE % 441 44| 88| 13.2] 14.8 32661 |EthE K= 47] 44| 91| 15.6] 75.4
20761 |EFM & 46] 46| 92| 18.0] 74.0 2611 =l IE= 48] 46| 94] 19.2] 74.8 NI [FH RE 49] 54| 103] 27.6] 15.4
2081 &R =T 49 55| 104] 30.0] 74.0 2681 =A A& 51| 55| 106] 31.2| 74.8 328 | =18 EME 471 44| 91| 15.6] 75.4
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AFEIIREES 46| 46| 92| 18.0| 74.0 AIEEEEEE 49] 45 94| 19.2] 74.8 B | ERE BE 46| 50 96| 20.4] 75.6
2120 |[HEE EE 50| 42| 92| 18.0| 74.0 212061 &8 BE—ER 38 44| 82 1.2] 14.8 3N |FA A 43| 41| 84 8.4] 15.6
2130w | =0F RBA 46] 45 91| 16.8] 74.2 23 e BE 45| 49| 94| 19.2] 74.8 333 [BH - 48 48] 96| 20.4] 75.6
214 |BAN =i 45| 52| 97| 22.8] 74.2 27461 |K#1 Bt 48] 46| 94| 19.2] 74.8 B4 B E 491 47| 96| 20.4] 75.6
215z | RH & 48] 43| 91| 16.8] 74.2 NEEGEES ES 45 49| 94 19.2| 74.8 B 335 @Ml BF 43| 41| 84 8.4] 15.6
216/ |5 M 1E36 45 40| 85| 10.8| 74.2 2760 |FEh & 391 43| 82| 71.2] 74.8 336 | AB B 51 57| 108| 32.4] 75.6
2006 | AA 41| 44| 85| 10.8] 74.2 2716 |[R Tk 53 47| 100] 25.2| 74.8 3376 TR Ml 421 42| 84| 8.4] 15.6
21861 | &A B— 45| 46| 91| 16.8] 74.2 278 |[AF =5 41 40| 81| 6.0 75.0 338 RO #w& 55| 53| 108] 32.4] 75.6
219/ | ¥ IE— 46] 45 91| 16.8] 74.2 2790 |[BF E&A 45] 54| 99| 24.0] 75.0 3396 | E%H A 48] 48] 96| 20.4] 75.6
2200 |jER =& 441 47| 91| 16.8] 74.2 2801 |MIER m&m1r 23] 44] 87| 12.0] 75.0 3400 |FIR A 491 47| 96| 20.4] 75.6
22105 By &F 441 47| 91| 16.8] 74.2 28161 [ZELX W— 53] 52| 105 30.0 75.0 KAENTIEES 46] 56| 102] 26.4] 75.6
22215 |@kiE IE— 47 50| 97| 22.8] 74.2 28261 A EE 45] 48] 93] 18.0] 75.0 I [BER HUL 447 40| 84| 8.4] 15.6
R FIEE = 39 40| 79| 4.8 74.2 283 Bl =B 48] 45] 93] 18.0] 75.0 ST 35| 43| 78] 2.4 15.6
2245 X1t = AT 44| 85| 10.8] 74.2 2841 |[#IR Bk 23] 44] 87| 12.0] 75.0 4G |[PE B 46] 50| 96| 20.4] 75.6
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228 Rl B 2] 42] 84 9.6 74.4 288f1 |BH 7 48] 45] 93] 18.0] 75.0 3B B0 fB— 48] 47| 95| 19.2] 75.8
2200 | X= {& 46] 44| 90| 15.6] 74.4 2801 &R Bh— 40] 41| 81| 6.0] 75.0 3497 | E@E F01T 45] 50| 95| 19.2] 75.8
2302 |AF =7 40 44| 84] 9.6 74.4 2000 WA Bk 50/ 49| 99| 24.0] 75.0 350 |5HH HEY 56| 51| 107] 31.2] 75 8/ mR&
231 A% <AF 43 41| 84] 9.6 74.4 2011 | AkE Bz 48] 45] 93] 18.0] 75.0 3516 |FFE ®WE 48] 53| 101] 25.2] 75.8
RS EET] 53 55| 108 33.6] /4.4 202061 [HE IEfE 1] 40| 81| 6.0] 75.0 3526 |FE XB 447 51| 95| 19.2] 75.8
233w | tH %= A7 49| 96| 21.6] 74.4 203 | R KE 46] 47| 93] 18.0] 75.0 353 Bl Bs 50/ 51| 101] 25.2] 75.8
2247w IO R= 46] 44| 90| 15.6] 74.4 2040 EFH 1Rk 46] 41| 87| 12.0] 75.0 B4 |ER = 49] 46| 95| 19.2] 75.8
2350y | BA 48[ 48] 96| 21.6] 74.4 FEEEEE 447 49] 93] 18.0] 75.0 K FEERERS 471 48] 95| 19.2] 75.8
2360 |[REH M8 45 51| 96| 21.6] 74.4 2060 IR & n 52 47| 99| 24.0] 75.0 356 | BA EF 51| 50| 101] 25.2] 75.8
2371 M an 42 48] 90| 15.6] 74.4 2076 |IUA Em 42 44 86| 10.8] 15.2 357 |h¥r #08h 447 39] 83| 71.2] 15.8
238 | KEH = AT 49] 90 15.6] 74.4 2081 i B— 38 48] 86| 10.8] 75.2 358G [HFEO Fnl 48] 53| 101] 25.2] 75.8
230y Ak B 48[ 48] 96 21.6] 74.4 2007 [BBA A 49]  43] 92| 16.8] 75.2 359%; |ILth IF15 49] 46| 95| 19.2] 75.8
2000 BB ik 54 48] 102] 27.6] 14.4 300 e TR 53] 51| 104 28.8] 75 2|78 360/ | =8 o7 447 45 89| 13.2] 75.8
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36272 | FHE ;W 50 45 95| 19.2] 75.8 4225 (A KRR 43| 42| 85| 8.4] 76.6 4826 [It& ZE 521  47] 99] 21.6] 77.4
363 = HETF 451 44| 89| 13.2] 75.8 1236 =R ZETF 49] 54| 103] 26.4] 76.6 48361 [t BA 58 53| 111] 33.6| 77.4
3646 '=H ERF 511 50| 101] 25.2] 75.8 245 =E IEHE 43| 54| 97] 20.4] 76.6 48461 R EYF 52 52| 104] 26.4] 77.6
365% |WMA IE A 42] 83| 1.2] 15.8 42560 EfE m=m 50| 53| 103 26.4] 76.6 & 48561 5% E 50| 54| 104] 26.4] 77.6
3660 |=H B A 50 51| 101] 25.2] 75.8 4260 [HE B 501 47| 97| 20.4] 76.6 48661 58 1B 46| 46| 92| 14.4] 71.6
36/ (%@ E— 491 46| 95| 19.2] 75.8 e EET 45| 52| 97| 20.4] 76.6 48761 [hHF E—Ef 45| 53| 98] 20.4] 77.6
368fL Bk B 50 51| 101] 25.2] 75.8 186 P =k 531 50| 103] 26.4] 76.6 4836 [RE = 49] 55| 104] 26.4] 77.6
369 =& B 541 53] 107] 31.2] 75.8 4295 [FE E 43] 48] 91| 14.4] 76.6 48961 [FL R 551 55| 110] 32.4] 77.6
306 =i FlIE 46] 48] 94 18.0] 76.0 4306r 1k FIA 541 55| 109] 32.4] 76.6 4906 [lEA H— 50| 48] 98] 20.4] 77.6
3G |#Efk FIS 48 46 94| 18.0] 76.0 413142 [t8 LW H 49 541 103] 26.4] 76.6 4916r /NI R 44 48 92| 14.4] 77.6
326 |tk B 46] 48] 94 18.0] 76.0 43250 [RE B 44 47| 91| 14.4] 76.6 49261 IEE = 52 52| 104] 26.4] 77.6
L FH HX 49] 45| 94] 18.0] 76.0 4336 [&H MRE 521 50| 102] 25.2] 76.8 193 = = 46| 52| 98] 20.4] 71.6
JTM [EA EE 52| 48] 100] 24.0] 76.0 43460 [ IEX 491 47| 96| 19.2] 76.8 4945 [REA B 56| 54| 110] 32.4] 77.6
37561 e A 50 50| 100] 24.0] 76.0/RE 43560 KfE EX 46] 56| 102] 25.2] 76.8 49561 A BEE 44 47| 91| 13.2] 71.8
37661 [5th 5 48] 52| 100] 24.0] 76.0 436 [BBA WF 48] 54| 102] 25.2] 76.8 49661 [ILZE 1BX 471 44| 91| 13.2] 77.8
IFEEEES S 52| 48] 100] 24.0] 76.0 376 [INER BE 46] 44| 90| 13.2] 76.8 49760 (KB LR 55 54| 109] 31.2| 77.8
38 |[BA —= 46] 48] 94] 18.0] 76.0 4336 [lA ®E 48] 43| 96| 19.2] 76.8 1980 [ZH =218 50| 53| 103] 25.2| 77.8
EEEEERETES 471 47| 94 18.0] 76.0 43967 [fHIL &R ER 531 49| 102] 25.2] 76.8 4199 [fER A fBth 51| 58] 109] 31.2| 77.8
VRS 441 50| 94 18.0] 76.0 4406 TR HE 50 52| 102] 25.2] 76.8 5006 |[EA &= 49] 54| 103] 25.2] 77.8/E
3816 [ XF HAE 48] 46| 94 18.0] 76.0 M6 HO Rk 45 45 90| 13.2] 76.8 50161 &8 =& 51| 52| 103] 25.2| 77.8
W | E =FRK 52 54| 106 30.0] 76.0 45 fRE EE 447 46| 90| 13.2] 76.8 5026 |=i@ #Imd 52/ 51] 103] 25.2] 77.8
383 LEB =T 44 44| 88| 12.0] 76.0 14367 BB WX 447 52| 96| 19.2] 76.8 503f |BH Be 471 50| 97| 19.2] 77.8
384GL TRFE & 51 49| 100] 24.0] 76.0 Y46 TNE B— 46| 44| 90| 13.2] 76.8 5006 W/ P B 491 48] 97| 19.2] 77.8
385% [/NEE PR 50 56| 106 30.0] 76.0 456 B =% 49] 53| 102] 25.2] 76.8 50561 =7 Ml 531 56| 109] 31.2| 77.8
3866 [FIE EZ& 49 51| 100] 24.0] 76.0 4465 [/ME BE 49] 53| 102] 25.2] 76.8 50661 | KB & 47 50| 97| 19.2] 77.8
3870 [EA A 391 49| 88| 12.0] 76.0 4476 [E% ShEA 45| 51| 96| 19.2] 76.8 50761 TR AE 471 56| 103] 25.2] 77.8
388fL [N =18 53] 53| 106 30.0] 76.0 4436 [HE EE 44 52| 96| 19.2] 76.8 50861 |B& =2 491 48] 97| 19.2] 77.8
389 /MR BRE 471 47| 94 18.0] 76.0 4496 [FAE FE A7) 43] 90| 13.2] 76.8 500 [EH mn 50/ 53| 103| 25.2| 77.8
3006 [felF & 43[ 44| 87| 10.8] 76.2 Y ETE S 53 49| 102 25.2] 76.8 & 510f [IE hm 447 53] 97| 19.2] 77.8
3916 [IUA  THE 47 52| 99| 22.8] 76.2 45160 [#2E ) 55/ 52| 107 30.0] 77.0 51167 |RE  ZBER{t 45] 51| 96| 18.0] 78.0
3020 [MAK B/ 45| 48] 93] 16.8] 76.2 45261 [HWL At 447 39] 83| 6.0] 77.0 51270 [MAA BF 50/ 52| 102] 24.0] 78.0
303 [AHE F— 49| 44| 93] 16.8] 76.2 4536 AN B E 51| 44| 95 18.0] 77.0 51361 |/NE %% 51| 45/ 96| 18.0] 78.0
304 [BH ER 45| 48] 93] 16.8] 76.2 545 | e 421 47| 89| 12.0] 77.0 514 [[WH IIE 53 49| 102] 24.0] 78.0
3956 HHF ==k 45| 48] 93] 16.8] 76.2 4556 |8 FX 50 51| 101 24.0] 77.0 515z |IUO A= 53] 55| 108] 30.0] 78.0
39661 [HfE R 41| 40| 81| 4.8] 76.2 45661 &% BB 421 41| 83| 6.0] 77.0 51661 |%kE & 48] 54| 102] 24.0] 78.0
SESTEEES 49] 56| 105| 28.8] 76.2 e NS 57| 56| 113 36.0] 77.0 51761 |h#f E— 40] 50| 90| 12.0] 78.0
308 |[BH =X 51| 54| 105] 28.8] 76.2 45861 [k Mi— 23] 46| 89| 12.0] 77.0 518G |[1EiE H& 58] 56| 114] 36.0] 78.0
390 [H®Il A= 447 49| 93] 16.8] 76.2 59 & IE 46] 49| 95| 18.0] 77.0 5197 [AFE Z5h 48] 47| 95| 16.8] 78.2
4006 Ak =T 50/ 55| 105 28.8] 76.2RE 4606 K HE 541 47| 101 24.0] 77.0 5200 [ EER 51| 50| 101| 22.8] 78.2
4016 /M B— 57| 54| 111] 34.8] 76.2 46160 KA Bz 49] 52| 101] 24.0] 77.0 5211 |EfF = 52 61| 113] 34.8] 78.2
40261 (=Nl EE 53 51| 104] 27.6] 76.4 4627: | AH Z8 48] 53] 101] 24.0] 77.0 5227 |&H 25 48] 53| 101| 22.8] 78.2
40361 Ak JEF 49 55| 104] 27.6] 76.4 46360 [tk T 49] 52| 101] 24.0] 77.0 52361 |RIER ERTF 531 54| 107| 28.8] 78.2
404 [ EiF 541 56| 110] 33.6] 76.4 41646 ILO B 45] 44| 89| 12.0] 77.0 52461 A = 49] 52 101] 22.8] 78.2
4050 |28 B 46] 52| 98] 21.6] 76.4 4650 |—tm E= 45| 49| 94| 16.8] 77.2 52501 |FH BEF 53 48] 101] 22.8] 78.2|E
40611 [HEAR B2 42 44 86| 9.6 76.4 466 |[FHE = 47| 47| 94| 16.8] 77.2 5266 |ILA & 51| 44| 95| 16.8] 78.2
40761 [EF EARR 46] 46| 92| 15.6] 76.4 FREEEED 51| 55| 106] 28.8] 77.2 52761 |5R EEBEF 49] 52 101] 22.8] 78.2
4086 |[FE EA 50/ 48] 98] 21.6] 76.4 46861 [HE K—ED 48] 52| 100] 22.8] 77.2 52801 |i%mE1 8= 52 49| 101] 22.8] 78.2
N FEENETS 49 61| 110 33.6] 76.4 46961 (B kfE 47| 47| 94| 16.8] 77.2 52061 | R#&x P 52 61| 113] 34.8] 78.2
A0 [ItF =2 43[ 55| 98] 21.6] 76.4 470 [BE =¥ 421 52| 94| 16.8] 77.2 53061 | W 49] 52 101] 22.8] 78.2
A6 [Pl sh 50/ 48] 98] 21.6] 76.4 AT B KE 52 48] 100] 22.8] 77.2 53161 |/\K =®EE 48] 52| 100] 21.6] 78.4
2T [&ZH R 47 51| 98] 21.6] 76.4 26 AR &E 421 46| 88| 10.8] 77.2 53261 | HETF 421 46| 88 9.6] /8.4
3 @ BX 47 51| 98] 21.6] 76.4 47360 [hE  F0Ek 43| 45 88| 10.8] 77.2 53361 [ILA & 51 49| 100] 21.6] 78.4
N SECEEE 46] 46| 92| 15.6] 76.4 474G =B A 50/ 56| 106] 28.8] 77.2 53461 [X¥F IEAN 447 62| 106] 27.6] 78.4
450 Em iE— 50/ 48] 98] 21.6] 76.4 NEFEEZNESE 49] 51| 100] 22.8] 77.2%& 5351 /NI B— 49] 51| 100] 21.6] 78.4
A66 8 =B 2] 50| 92| 15.6] 76.4 47661 BT B 53 52| 105 27.6] 77.4 5366 |&H #5% 52 60| 112] 33.6| /8.4
T KF BX 50 48] 98] 21.6] 76.4 4TIGL Rk EE 447 43 87| 9.6] 77.4 53761 |20 BEF 48] 46| 94| 15.6] 78.4
NG ERE S 45 53] 98] 21.6] 76.4 YR E 43 44 81| 9.6] 71.4 538 |HE & 47| 47| 94| 15.6] 78.4
A9 (AL & 45 47| 92| 15.6] 76.4 4796 A BRF 56/ 55| 111 33.6] 77.4 530f =@ .= 46] 54| 100] 21.6] 78.4
406 [P Fik 42] 43 85| 8.4] 76.6 48061 [=H# IE 48] 51| 99| 21.6] 77.4 54061 |[FAoT &G 45] 55| 100] 21.6] 78.4
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Novil#F [E 42 —DER]

2024 &£ 7 A 22 B (AH) ~ 2024 &£ 7 A 28 B (H)
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HDCPLRR: (B) 36.0 (%) 36.0 =
JIE f52 mEESR OU 11 NGROSS| HDCP | NET [ERiva mRES OUT1 NGROSS| HDCP | NET & 42 HEEESA OUT1 NGROSS| HDCP | NET
54161 | AF  JLbE 47 52| 99| 20.4] 78.6 6011 |H B 447 46| 90| 9.6] 80.4 6616 | AAR % 62] 59| 121] 36.0] 85.0
540f |t = 48] 57| 105] 26.4] 78.6 60201 ik & 571 51| 108 27.6] 80.4 66261 |&A FIHA 52 68| 120] 34.8] 85.2
543G AHE B 50| 49| 99| 20.4] 78.6 603 ik =& 45| 45| 90| 9.6] 80.4 6636 |[BE HRn 55 59| 114] 28.8] 85.2
544G [EA AR 46] 53] 99| 20.4] 78.6 604FT | AL E— 52 50| 102] 21.6] 80.4 66461 [FIE REE 571 63| 120] 34.8] 85.2
5450 | hE B 43 44| 87| 8.4 18.6 60567 |AIE Flk 48] 59| 107] 26.4] 80.6 665GC ¥ BEA 531 58] 111] 25.2| 85.8
54641 W1 ik 48 50 98] 19.2] 78.8 6061 |[#B5A IEEE 52 547 106] 25.2] 80.8 666fr |fElE BE.L 65 571 122] 36.0] 86.0
54761 [#ENl AR 497 49| 98] 19.2] 78.8 60761 |IBA 31D 50/ 56| 106] 25.2| 80.8 667/ |Br k= it 62] 58] 120] 33.6] 86.4
54861 [ILF 181= 471 51| 98] 19.2] 78.8 608f1 | AFT FERE 50] 38| 88 7.2] 80.8 6681 [FE KM 51| 56| 107] 20.4] 86.6
549G [fIER Ao 451 47| 92| 13.2] 78.8 6096 |[FFH 1% 571 60| 117 36.0] 81.0 669f2 |HIL X 521 59| 111] 24.0] 87.0
5501 |EREH =F& 62| 48] 110 31.2] 78 8RB 6106 [#EH =& 51] 54] 105 24.0] 81.0 67061 RNl =& 60 63| 123] 36.0] 87.0
5511 | APH Z_— 571 53] 110] 31.2] 78.8 61161 | A% —BA 48] 63| 111] 30.0] 81.0 6716 [ Rl %X 64 58| 122] 34.8] 87.2
552ff |&H BhX 511 59| 110] 31.2] 78.8 61261 [8hil =4 61] 56] 117 36.0] 81.0 67260 [#THE 3him 49] 54| 103] 15.6] 87.4
553f |Jtll B 471 51| 98] 19.2] 78.8 613f | A%k M1 55] 62| 117] 36.0] 81.0 6736 [|R =—Ep 55 69| 124] 36.0] 88.0
55461 [BIEH & 491 55| 104] 25.2] 78.8 61461 [ HA @A 541 56| 110] 28.8] 81.2 6746 [FBA 1B 571 55| 112] 24.0] 88.0
5556 |IULA & F 491 49| 98] 19.2] 78.8 6156 O E% 571 59| 116] 34.8] 81.2 6750 KB Kk 59| 65| 124 36.0] 88 07
55611 ke A= 541 50| 104] 25.2] 78.8 6166 (=l ITLTF 571 58] 115 33.6] 81.4 67662 A =1t 58] 66| 124] 36.0] 88.0
55761 Il BFK 43 49| 92| 13.2] 78.8 61761 [f&)Il ER 571 58] 115 33.6] 81.4 6770 =% B 68 56| 124] 36.0] 88.0
558 | HB RBEX 48] 50| 98] 19.2] 78.8 618f |IEH T8 54 61| 115 33.6] 81.4 678f1 &Rk =17 64| 57| 121] 32.4] 88.6
550f [5/E == 521 58] 110] 31.2] 78.8 61961 & IE= 61| 54| 115 33.6] 81.4 67196 2% = 61 64| 125 36.0] 89.0
5600 [E EE 49] 55| 104] 25.2] 78.8 62067 |AIEH & _BR 64| 51| 115 33.6] 81.4 680G |[ATH F= 63| 56| 119] 30.0] 89.0
56161 |$RA BhE 441 43| 92| 13.2] 78.8 IFEGEEINS 56/ 53| 109 27.6] 81.4 681fL It Zb& 59 67| 126] 36.0] 90.0
5620 [EE IEH| 441 47] 91] 12.0] 79.0 6220 |[=H IREB 48] 43| 96| 14.4] 81.6 68211 |1 &R 571 69| 126] 36.0] 90.0
5630 [MER  FEH 47] 56| 103] 24.0] 79.0 623f1 &k AJv 58 56| 114] 32.4] 81.6 683G | KB MR 63| 63| 126] 36.0] 90.0
56461 [BE 1® 541 55| 109] 30.0] 79.0 62450 [;BE 1E17 521 61| 113] 31.2] 81.8 68460 |BER mx 60 68| 128] 36.0] 92.0
565% =B fEIE 55| 60| 115 36.0] 79.0 62561 |FH 56| 62| 118 36.0] 82 0 7RE 6851 ik IEX 65| 66| 131] 36.0] 950
5660 | S 7 46] 45| 91 12.0] 79.0 6260 |[BF RIE 571 61| 118 36.0 82.0 686 |HE 3 61 71| 132] 36.0] 96.0
5676 |JIIFY Zaok 57] 58] 115 36.0] 79.0 62761 |AH 5% 56/ 50| 106 24.0] 82.0 6876 [/MNEFEF REE 71 68] 139] 36.0[103.0
56861 | =& SF 45| 51| 96| 16.8] 79.2 628f1 |[IUA RA 58 60| 118 36.0 82.0 688G |E/R #Ash 64 75| 139] 36.0/103.0
560 |ZH #HK= 50/ 58| 108] 28.8] 79.2 6205 [iZE PER 62| 56| 118 36.0 82.0 680G B8 B2 71| 71| 148] 36.0]112.0
506 & &= 521 56| 108] 28.8] 79.2 63061 |IAF B oF 52 53| 105| 22.8] 82.2 6906r |#AK kB 71| 78] 149] 36.0]113.0
S R = 53] 55| 108] 28.8] 79.2 6311 |IA &2 47| 58] 105] 22.8] 82.2 601f1 &k BX 72 81| 153] 36.0|117.0|BB
572061 A &= 50/ 52| 102] 22.8] 79.2 63271 |#AfE S F 58] 53| 111| 28.8] 82.2 69201 |[RK 1% 73] 82| 155| 36.0]119.0
5731 B Bis 50/ 52| 102] 22.8] 79.2 6336 |pEH B 51 65| 116 33.6] 82.4
74 [TRFE BE 43[ 47| 90| 10.8] 79.2 6341 fefF BHET 51| 47| 98] 15.6] 82.4
5751 |IAF =3k 46] 50| 96| 16.8] 79.2RE 6351 |ILF APE 23] 55| 98] 15.6] 82.4
57601 |mIR 8= 60| 53] 113] 33.6] 79.4 6360 [l =k 64] 52| 116 33.6] 82.4
57761 & = 50 45/ 95 15.6] 79.4 63761 |[EH wE 57| 52| 109] 26.4] 82.6
5780 [FEAT fOBE 46] 61| 107 27.6] 79.4 63861 [BBA IFiL 57| 58| 115] 32.4] 82.6
57961 [EIl &k 49] 51| 100] 20.4] 79.6 63961 |hEF XiE 53] 56| 109] 26.4] 82.6
580 |[fHF R 521 54| 106] 26.4] 79.6 64061 [T FEIE 47| 50| 97| 14.4] 82.6
5817z [#EHE 25k 521 60| 112] 32.4] 79.6 64161 /NI ERF 56/ 52| 108] 25.2| 82.8
582 |[AH XRE 51| 49| 100] 20.4] 79.6 64271 |7GRE fRIE 60 59| 119 36.0] 83.0
583 |[FH BKX 471 53] 100] 20.4] 79.6 6436 KRB B= 61| 58] 119 36.0] 83.0
584G IR =17 51| 54| 105] 25.2] 79.8 [ EES 57/ 62| 119 36.0] 83.0
585(1 BIR BR= 60 51| 111] 31.2] 79.8 FTSFETES 52 66| 118] 34.8] 83.2
58611 | A B 45| 48] 93] 13.2] 79.8 64611 |Ea L= 58] 60| 118] 34.8] 83.2
58761 |&IR Jhin 50/ 49| 99| 19.2] 79.8 64761 | & XF 58] 58| 116] 32.4] 83.6
588f1 |Jth fThRE 53 58] 111] 31.2] 79.8 648G [FEEE RAX 49] 61| 110] 26.4] 83.6
5801 RE = 53 51| 104] 24.0] 80.0 64961 Wl & 55| 54| 109] 25.2] 83.8
500 |EH & 49 49| 98] 18.0] 80.0 6500 B EXKF 51| 51| 102 18.0] 84.0/kE
50161 [ HH BA 541 56| 110] 30.0] 80.0 65161 [ RA Br 56/ 58| 114 30.0] 84.0
50261 |HIR it 59 57| 116 36.0] 80.0 65271 | H Imia 62 58] 120 36.0 84.0
50361 |HRA =& 47 51| 98] 18.0] 80.0 653f1 |BEA FEn) 53] 66| 119] 34.8| 84.2
50467 1Ll TULC 52 58] 110] 30.0] 80.0 65406 | =3F = 56/ 51| 107] 22.8] 84.2
5050 |=IE —f@ 57| 59| 116 36.0] 80.0 65501 |HEF Fi& 541 63| 117] 32.4] 84.6
5067 |IZHE B 52 52| 104] 24.0] 80.0 65611 EREZES 60 57| 117] 32.4] 84.6
50761 [KE ME 541 55| 109] 28.8] 80.2 65711 |fahn IE 56/ 65| 121 36.0] 85.0
508G [Pl EtR 50 53] 103] 22.8] 80.2 65861 | XE F&Al 53[ 68| 121 36.0] 85.0
50061 [JII# ®WFF 57| 52| 109] 28.8] 80.2 65917 |EF E28| 60 61| 121 36.0 85.0
JFREGEES 58] 51| 109 28.8] 80.2/RE 6606 |FH = 57/ 64| 121 36.0] 85.0
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